

$14,2 \times 23,1 = 328,02$

$15,24 : 3 = 5,08$

$5,751 - 0,0015 = 5,7495$

$20 + 50 + 90 + 1,94 = 161,94$

$$\begin{array}{r} 14,2 \\ 23,1 \times \\ \hline 142 \\ 4260 \\ 28400 \\ \hline 328,02 + \end{array}$$

$$\begin{array}{r} 410 \\ 5,7510 \\ 0,0015 \\ \hline 5,7495 - \end{array}$$

$$\begin{array}{r} 3 \overline{) 15,24} \quad 5,08 \\ \underline{15} \quad \vdots \quad \vdots \\ 0 \quad 24 \\ \quad \underline{24} \\ \quad \quad 0 \end{array}$$

$$\begin{array}{r} 20 \\ 50 \\ 90 \\ \quad 194 \\ \hline 161,94 + \end{array}$$

